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1. Answer all questions. :
2. All questions carry equal marks,
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4. |imoreﬂ1anoneansworsaremarked.itwouldbelmabadaswronganswer
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6. 173 part of tha mark(s) of sach question will be daductad for sach wrong answer. (A wrong answor

means an incorrect answer or more than one answers for any quastion. Leaving all the relevant circles or
bubbles of any question blank will not be considered as wrong answer.)
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Paper of the same series. Candidate himself shall be responsible for ensuring this,
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1  Crimea has been merged by which country ?

(1) Ukraine ' - (2) Russia
(3) China | (4) France
fou A Y A w oy ¥ i wx R d 7
(1) g 2 w§

G) 9 | @ W

2 Among the following, which siate has the highest Lok Sabha Seats ?

(1) Madhya Pradesh (2) Uttar Pradesh
(3) Rajasthan (4) Andhra Pradesh
e ¥ ¥ Row v § Ao Y wafie @R ¥ 2
(1) w= Ww (2) TR Wy

() IRUE | @ o W

3 Who is the Chief Election Commissioner of India ?

(1) S.Y. Qureshi (2) V.S. Sampat
(3) W. Habib Ullah @) Si Niwasan
WG % gl I TgE W ¥ P |

(1) vuvEad. Fuh (2) «Td T

(3) == %9 I® @ A Farm

4  Who is the author of ‘My Story’ ? o
(1) LK. Advani (2) Narendra. Modi

(3) APJ. Abdul Kalam (4) Dr. Man Mohan Singh
o DY % dEs BT Eo? v
(1) TS sEar @) T= A
@) ThH ogw @) = TR ﬁrs |
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5

The most important salient feature of the Constitution of India is :

(1) India to be a Sovereign, Socialist, Secular and Democratic Repubth

(2) Single Citizenship
(3) Anti Defection Act
(4) Nominal Head of the State

i & GRum A waifue el fdwa ¥ o

(1) WRa wqE @A weEn, a-fRle o mmmw 3

@) TEE
(3) Te-Taud afPrEm
@) -madl ww oemw

The President of India can be elected for -
(1) One term only-

(2) Two terms

(3) Three terms:

(4) Any number of terms

TRa & UguRr & FrEfee o wwma t —
(1) haw T alaﬁx % fwa

(2) @ oEY % his|

@) & B R

@ Foadt W oae % R

Parliament is consisted of :

(1) Members of both the houses

(2) Members of both the houses and the president
(3) Members of state legislatures

)] Members of “both houses and the vice-president

g % T ¥ whuR ¥

(1) o w i % §§&

@ é’rﬁm%wwﬂwﬁf

() e wwiel % uee

5"(4) m%aﬁfaﬁ%w@wdm
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8  The Prime Minister and Council of Ministers are collectively responsible

to:
_'(1) Lok Sabha ) Président
(3) Rajya Sabha (4) Speaker of Lok Sabh
o Wl o it oo e ¥ Sowerh o ¢ o
(1) <wem F wiy @) R ¥ R
o (3) o ogw % Al (@) wimdw oremm & W

-9 The executive power of the state is vested in

(1) Chief Minister (2) High Court

(3) Govemor (4) Speaker of Assembly
W o sRaen g fifte 3

() 9= @i | (2 = JEmg o

@) U () A @ fourmsr oremm &

10 G-8 Summit, 2013 was organised in :

(1) Tokyo (2) Berlin

3) Rome (4) St. Petersburg
-8 firaX AW 2013 ¥ s Rear ww e ¢
1) A A 2 =i ¥

@) W F @) ¥ Gmwt A

11 Which of the following country is not a member of ASEAN ?

(1) Myanmar (2) Laos
(3) North Korea (4) Vietnam
ﬁwﬁ%aﬁa—m%ﬂ@mﬂwmwﬁ% ?
(1) =ErR | 2 W
G s oERw @ e
sA1 o 4 o [Contd...
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12

When national emergency is declared under Article 352 of the Constitution,
which of the fundamental right can not be suSpended ?

(1) Right to equality
(2) Right against exploitation

" (3) Right to life and personal liberty

(4) Right to freedom of religion. |

W agedE 352 (W % W) ¥ o dw ¥ enwew @ s
a‘a’raﬁ’r% m%&%mﬁnﬁmﬁmaﬁhwm% ?
(l)mﬁaraa'ralﬁ‘m'{ |

(2 9w F fem afmw

(3) WiaY ud aiETd Qaeldl @ AT

@) uitle o & AeR

13 What was the name of that President who had also served as speaker
of Lok Sabha ?
(1) Dr. Zakir Hussain (2) N. Sanjeeva Reddy
(3) Dr. SD. Sharma @ V. V Gid ‘
W AR BT T T 41 SN WE TN T oA (vhar() ﬁiﬁ;i‘r ?
(1) =i afet g& @ . Wi T
(3) =i uwad. g : @ d«& Rl

14 The Municipalities and Panchayats have been given a constitutional status
under Article :
(1) 151 (2) 16
(3) 243 : 4 324
Wtﬁﬁl@f@ﬁﬂ?ﬁﬁ%ﬁfﬁﬁmw%mﬁ
) 151 % 2) 16 ®
(@) 2439 (4) 324 §

15 The Chairman of Mummpahtles are elected by

@) Direct  election = (2) Indirect election
(3) Senior citizens - 4) Freedom ﬁghters
PR & s & g E‘En % _
| .(1)mﬁ‘=xfa=r§m-' _- (2) m&aﬁra‘iaam
| '-'-,(3) aﬂsﬂmﬁ# T (4) wa'amﬁmﬁﬂﬁ ‘GCRT |
zs A] e j; o _5- I [Contd
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16

Which one of the following is not a Himalayan pass ?

25 A} | 6

https://wWw.freshersnow:com/pf_evious-year-,—question-papers/

(1) « Thal Ghat @) Zoji La
(3) Burzl (4) Banihal
freafoflaa & @ e & of 8 & -
(1) e - (2) il
) T . (4) e
17 The cause of winter rainfall in north-western India is : .
(1) North - East monsoon (2) South - West monsoon
(3) Western disturbances (4) Jet stream
sl wra ¥ siveel awl w1 s ¥ -
(1) Sagd g @) aRi-efied g
(3) et Ry @) <z €m
18 The state famous for sandalwood production is -
- (1) Kamataka (2) Madhya Pradesh
(3) Chhattisgarh (4) Goa
T B & Sard & R aRiE W § -
V) e @ mmww
() wEw (4 vem
19 Area not producing mineral oil is -
(1) Ankleshwar (2) Digboi
(3) Mumbai High (4) Kochi
e oW Sues &5 T ¥ -
(1) Sy @ R
() =i @) @it
20  Father of “White Revolution’ is -
(1) S. Muthiah (2) M.S. Swaminathan
(3) AM. Khusro (4) Verghese Kurien
‘O W b e ¥ - o
1) w§ gk | S @ wuh. @l
@) TE gl @ =i gRem
" | ' [Contd...



21

Coral island is -

(1) Crocodile (2) Elephanta
(3) Lakshdweep (4) Wheeler
vaw a9 ¥ - |
() w@ERE (2) T
(3) W @) @

22 Dhauladhar range is the part of - ‘ _
(1) Trans Himalayas (2) Lesser Himalayas
(3) Inner Himalayas (4) Siwaliks
demey Ioit Rraer o ¥, a€ ¥ - -
(1) e femea () vy e
() o femed @ Pt

23 Sahayadris are also known as -
(1) Western ghats (2) Eastern ghats
(3) Aravali (4) Himadri
wE B QU A ¥ - |
(1) diel W= 2 Eae

@) eEe @ ek

24 The ca:)rrect sequence from north to south is -
(1) Bhorghat, Thalghat, Palghat
(2) Thalghat, Bhorghat, Palghat
'(3) Thalghat, Palghat, Bhorghat
)] Bhorghat, Palghat, Thalghat
T F R Ao k-
() W, wsnz T
@) uwEE, WER, T
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25 The sea coast extendmg between Krishna river delta and Kanyakumari is -

(1) Konkan (2) Kakmada

@) Coromandal . (4) Malabar

TN TR F IRT ¥ HAGI Sl 9@ ben a9 & —
(1) @iwm 2 T

(3) wIUTvEw (4 TEER

i : v
26 The most suitable temperature at the time of sowing wheat is -

(1) 20° - 25°C ) 25° - 30°C
(3) 15° - 20°C @ 10° - 15°C
W 9 g waife Sugew e 9 -
(1) 20° - 25°C (2) 25° - 30°C
(3) 15° - 20°C @) 10° - 15°C

27 The correct pair is -

(1) Adilabad - Iron ore (2) Kolar - Manganese
(3) Jhamar Kotda - Zinc (4) Shimoga - Mica
L I S

(1) oRwEE - W oS (2 @R -~ iR
() MY WiEr - s @ Twrm - oww

28 Hirapur, Kulti and Burnpur are the units of -
(1) Durgapur Steel Plant
(2) Vishwesaraiya Iron and Steel Works Ltd. (VISL)
(3) Indian Tron and Steel Company (IISCO)
(4) Tata Iron and Steel Company (TISCO)

m@?&eﬂraﬁgwmﬁm% qw % -
(1) 3Oy s wES

) ﬁﬁaﬁ@aamaﬁﬁwﬁ%@(wsm
(3) m-chuahsaswmaw&(nscm

@) = a‘ts T ST B (TISCO)

25 A) | 8 - [Contd...
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29 Tertiary coalfields are found in -
- .(1) Korba (2) Kalakot
3) Ihaﬁa (4) Singhreni
2Rl waen & ww B ¥, qw ¥ -
(1) ®rR= (2) TEHE
@) W . (@ Rieoh
30 The one which is not a major cotton textile industrial centre is -
(1) Vishakhapattnam (2) Mumbai
(3) Ahmedabad (4) XKanpur
P § @ U W gl oS @ WE B T8 8 -
(1) T 2) T
() wERER @) wAR
31 Part of Arabian Sea drainage is - |
(1) Kothart niver - (2) Jawai nver
(3) Berach ﬁver : . (4) Banas river |
RO AUEE W o ¥ - -.
(1) @Rl @ () &g &
(3) w=a & @) T T
Date of arrival of monsoon in Rajasthan advances towards -
"(1)- .N_orth - West (2) North - East
(3) South - West . 4) South - Ea'st.
Wﬁw%maﬁﬁlﬁﬁwaﬂraﬁmﬁ% w®E -
---:(1) T - vfm @ s/ - |
) afam qﬁmﬂ @ _—,1&‘___ o
zs AI el e [Contd,
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33 The part of Rajasthan having Koppen's Aw climatic region is -

(1) Sovthern {2) Northern

(3) Eastemn (4) Western

WA ¥ e owm § @ w1 Aw weag Ry Re ¥ 9w ¥ -
IORE L @ wad

@) @

34 The district not vielding tendu leaves is -

(1) Baran (2) Chittaurgarh
(3) Hanumangarh (4) Jhalawar
dg Rt @ saRw 4 e 9w R & -

(1 = () T
(3) TaATE (4) ¥EER

35 The part of Rajasthan having maximum area under maize cultivation is -

(1) Northern (2) Eastern

(3) Southern (4) Western

T & o galum P e s @ dw § -
(1) vl @)

(3) dfiol . (4) qi=mt

36 The distance of the southern-most end of the mainland India from the

equator is -
(1) 786 km | - (2) 678 km
(3) 768 km (4) 876 km
TR B gem g w1 e R g T w -
). 786 km (@ 67 km '
(3) 768 km - o _(4j_ 876 km
25 A 10 | S . [Contd... |
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37 The state having Nepanagar Paper Mill is -
(1) West Bengal (2) Bihar
(3) Madhya Pradesh (4) Gujarat
TR AR B T .'uﬂr-_% -
() il W @) fer
@) = WA . @ T
38 Nathra-ki-Pal are# is related to -
(1) Iron ore (2) Mica
(3) Copper 4 Coal -
THO-S-Tw Rl i ¥, w6 ¥ -
(1) % e - Q) AE
(3) € | 4) wEm
39 Incorrect match is - R L
(1) Manas - Assam (2) Pachmarhi - Maharashtra
(3) Panna - Madhya Pradesh (4) Nanda Devi - Uttarakhand
(1) =FE - o 2) R - TR
() W - TH W @) @ W - T
40 The district producing more than 90% of Rajasthan's: felspar is -
(1) Bhilwara @) Ajmer
. (3) Nagaur (4) Jaxpﬁr
'WHW%%QGTMWRWWW@[WW%*
| 2'(1) domsr e aﬁm
- zS_Ai_]'-'_i_:‘."_-, | _I 11 - _'[antd...}_
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41 The first king of Mauryan dynasty was -

(1) Bindusar (2) Bimbisar
(3) Chandra Gupta . (4) Ashok
e TES & W qed A -

(1) frger @ T
@) ==« @) s

42 Who among the following Delhi Sultans introduced token currency ?
(1) Mohammad Bin Tughlaq (2) Firozshah Tughlaq

(3) Alauddin Khalji (4) Ttutmish
= % & frm Rl g 4 oidRe gm aeg @ & 2
(1) TR gues @ e gaws
(3) oFNRM Wit 4y wegak
43 The revolt of 1857 held at Nasirabad on -
1) 10t May (2) 18" March
3) 28t May 4) 12 April
TRER ¥ 1857 O wiva g & -
1) 1095 & (2) 18 o @t
(3) 28 =8 @t @) 12 W @
44 Place where Mehrab Khan organised the revolt of 1857 was -
(1) Kota (2) Neemuch
(3) Tonk (4) Nimbaheda
NeusE A fpw =M & 1857 % R @ waww fear a1 ¢
1 @& @ W=
() s @) Frams
45 From where did the ‘Quit India’ movement of 1942 begin ?
(1) Bombay (2} Lahore
(3) Calcutta - (4) Madras
1942 & WRE BREY R BE T WO gom &1 ?
() == | (2) WmrT
(3) e . @) 7w
54, 12 - " [Contd...
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Which movement was started .by Gandhiji in 1930 ?
(1) Champaran (2) Kheda
(3) Non-Cooperation (4) Civil Disobedience
sl q 1930 £ ¥ W-w oo wrew e ar 7
1 " @ @t
(3) oEEE (4) v |
The founder of Rath Krishna Misson was - v
(1) Radha Kirishna (2) Ram XKrishna
(3) Vivekanand (4) Dayanand
g e & des 4 - o
(1) R @ T
() faawm= (4) =aFs
48 Who gave the slogan ‘Delhi Chalo’ (move towards Delhi)
(1) Subhash Bose (2) Bhagat Singh
(3) Kesri Singh - (4) Savarkar
Tl ool w1 W@ R @
(1) I & () watE A
() Fulfis ¥ @) wEET |
49 The Congress participated in the election of 1937 and won an absolute
majority in how many provinces ?
@ 3 | @ 4
3) 5 @ 6
1937%ﬁahaﬁmaﬁﬂm%uﬁfrﬁqﬁa§qam§an ?
O 3 2 4
3y S5 “ 6
.50' Who among the f'ollomng was a leader of ‘Swarajya Party ?
- (1) C. Rajgopalachari - (2) Tilak
(3) Motilal Nehru : (4) Sardar. Patel
.ﬁwrlﬁﬁrﬁ%aﬁﬂ‘wmwﬂmrﬁmm? N
S e () Rew
No) m W @ u%a TR
25 LAL s [Contd,

»

B h_ttps://www.fre$hers‘now.com/prev‘iou's-yéa_ﬁquést'ion'-r_')apers/_




51  Mahatma Gandhi attended which ‘Round Table Conference’ in England 7 |

(1) First {2} Second
() Third (4) First and Second
HETE M §wvs ¥ BN views weew § whafva go 2 ;
ONR LY | @ ff
3) T @) wum wd T
52 The revolutionary who threw bomb in the Central Assembly on 8 April,
1929 was -
(1) Bhagat Singh (2) Ras Bihari
(3) Lala Hardayal 4) Azad
- it fEe 8 allw, 1929 wt el earenfia ¥ € Yol 9% a1 —
(1) wwEiiE | @ & fEd
(3) wW W 4) oNE

53 Who formed ‘Samp Sabha’ in southern Rajasthan ?

(1) Motilal Tejawat (2) Govind Giri
(3) Maniklal Verma (4) Bhogilail
<Rl e ¥ @ s @ e fee B & ?
(1) AR o @) if frd
(3) i A @) wnfeme
54 The place where ‘Bikaner Prajgmandal’ was established by Magha Ram

in the year 1935 was -

(1) Bikaner (2) Bombay
(3) Calcutta 4 Ganganagaf |
1935 ¥ werew ¥ AR ST W W R W TR & ?
) dw @ ==
OB @ v
25A1 . - (7 [-Cbntd...
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55 Praja Mandal of which state did not participate in Quit India movement

of 1942 ?
(1) Kota | @ Mewar
(3) Marwar o (4) Jaipur

1942 % ‘e @t sy A R R 9 e ¥ o R
qry '
1) Ba 2 aE s

() WEE | @) “EgY
56 Name of the new school of painting emerged in Mewar during the reign
of Maharana Pratap was -
(1) Deogarh (2) Nathdwara
(3) Chawand ' (4) Gogunda
Wmﬁwmﬁﬂﬁﬁﬁmﬂﬁmﬁeﬁ ?
(1) Taw @) -EErI
(@) EvE. @ T
57  Author of ‘Vamsh Bhaskar® was
(1) Suryamal (2) Chandra Bardat
(3) Hem Chandra Suri ' (4) Nayachandra Suri
491 WEHT ¥ q@H A - '
(1 g™ 2 = TEE
@) ¥Ew gl @ e gl
58 Which one of the following place is famous for its “Theva Art’ ?
(1) Banswada | . .'(2) Dungarpur '
3 Pfatapgath - @) Jodhpur _
Pt ¥ & - amw asﬁ-mufag% :
o s @ g
| -;(3) W‘Wﬁ* BT '-(4)_. g o .
25 A] o s '_ [Contd.. R
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59

- 60

aQ 2 @ 3
®) 4 | @ 5
What is ‘Ravan Hatha® ?
(1) Musical instrument (2) Dance form
(3) Ornament (4) Festival
@O T FOE 7
Q) <T@ I | (2) ©F WBR # TI
(3) g (@) e
61 In which region of Rajasthan “Gindar Dance” is popular ?
(1) Mewar (2) Shekhawati
(3) Vagad (4) Matsya
T % fow & 7 les @ dwnE ¥ 7
(1) w= @ fEEd
() @) w=
62 “Meena Kshetriya Sabha” was founded in -
(1) 1920 (2) 1933
3) 1937 4) 1940
“qon dhg @’ K B o -
(1) 1920 % 2 19337
(3) 1937H% | @ ,1940-1’-;"
25A] - ;6

‘Dadu Panthi’ are divided into how many sub-sects ?

n 2 @ 3

() 4 @ s

TR} R R Suemem § Rekw @ 7

' htt_pé://www.freshersnow.com/previous-year-question-.papers/
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63  The Jat leader of Bharatpur who inspired the Jat farmers of Shekhava
for revolt was - -
(1) Chandra Bhan | '@ Ghasi Ram
(3) Deshraj (4 Ladu Singh
AR B T Far Rt fraed ¥ we e @ R ¥y MR R,
. w5 g — .
(O w=ww @) | T
@) ww= 4 whi
64 With which school of Rajasthani painting Nihal Chand was associated ?
1) Mewar (2) Bikaner
(3) Kishangarh - 4) Bundi
TrREr fEmar @ few ot @ P w1 T @ 7
1) @) &
@) ferme @ T
65 ‘mear-ka-pargam-ﬁ-ﬁgat’ was written by
(1) Achaldas (2) Karnidan
(3) Bankidas =~ @) Muhanot Na;nsif
‘mw's' T ToEr & f%ma H qEH BN AT ?
'.,(1) W @ W
._.(3) m o - (4):, Ww
25 A_} 17 : | [Cmtd
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66 Length of small intestine of a man is approximately -

(1) -1 to 1.5 meters (M 2 ito 2.5 meters
(3) 3 to 3.5 meters | (4} 6 to 7.5 meters
S B BRI A B WEE N ¥, W —

M 1915 WX 2) 2% 259X
(3) 3935 M= 4) 6¥ 7.5 ¥

L ]

67 Consider the following statements :

(1) Left atrium receives oxygenated blood from different parts of body
while right atrium receives deoxygenated blood from lungs.

(i) Left ventricle pumps oxygenated blood to different body parts while
right ventricle pumps deoxygenated blood to lungs.

(iii) Left atrium transfers oxygenated blood to right ventricle which sends
it to different body parts.

(iv) Right atrium receives deoxygenated blood from different parts of body
while left ventricle pumps oxygenated blood to different parts of body.

Which of the following statement/s is/are true ?

(1) (@) only

(2) (i) only

() (@) and (i)

(@) (i) and (iv)

frfefag @gt W R iR -

(i) wwi anfiig ik & fafv= wel @ oiferdiwfa ot W @ &,
vafe el onfiie Hwst 4 frairi oRR wa @ar ¥ 1
(i) AT o siedete SRR & SRR & = WPl & o9 wea ¥
wafes @l fog feieadwte ok & Swsl § vo @ ¥ )
(i) wET ol S o B I offws N WIFWIRG Xl s,
W R & Tl onfie yiR F Rafrw Wt @ qgawn ¥
(iv) =@l e siiR & fafes oot @ frerieiiate of wra & ¥
- ety 9@l Fag siedEte e B ol & R wel § o

B TG -
SUUER BN X & g FAT wT ayd YE 7
W ¥ @O @ %W G
e eFE. @ @I
- 25A} 18 R [ Contd...
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69 Deficiency of vitamin A in human body causes. -
(1) Loss of appetite (2) Loss of Vision
(3) Tooth decay (4) Mental disability
A R ¥ faafm A & ol F ww v ¥ -
1) @R A @ T el
3) T W - | 4 wrths T
70  Monomer unit of protein molecules is -
(1) Amino acid (2) Glucose
(3) Glycol (4) Carboxylic acid
W ol @ umed TS ¥ - |
(1) o o 2 @
(3) EEHW 4) wEitEwE o
71  Hydrolysis of fat gives -
(1) glycol and carboxylic acid
© glycol and sulphonic acid
" (3) glycerol and carboxylic acid
- (4) glycerol and sulphonic acid
 TW ¥ v omwe ¥ W d ¥ -
) e T iR o
_'..(2)wmsas“|%frawﬁ‘rﬁas—.m |
L0 Pt 3 it o

Human body synthesizes vitamin D in the presence of -

(1) Oxygen (2) Water

(3) Sunlight | (4 Moonlight

qME iR faefe D @1 deewer s -

(1) oiedsT o Suftafy & (2) ww @& IuRufer &

G) W vow A wwRa ¥ (@) =% F waw o wuRafy §

h'ttp.s://www.jréshersnoWJf_co,m_/éreVion’-%ar-‘questibnipape_rs/ B



72 Na* and K* balance in the blood is maintained by :

25 A1

(1) Relaxin (2) Aldosterone
(3) Erythropoietin (4) Cortisol
SR ¥ Na*t 9 K' & dga" &= @O &
(1) feifms &z (2) TRERE ¥ @
(3) sluuEier & & (4) HEEE & T
73 Urea cycie occurs in
(1) Nephron (2) Liver .
(3) Spleen (4) Pancreas
i 9% U Ww §
1) ¥wF A 2 T g N
(3) e A (4) o=y A
74 Nerve impulse generation is due fo :
(1) Action of hormones
) Na"'fK““ exchange
(3) Ca*?Mg*? exchange
@) Internal changes in neuron
dtimr emay swfy B T
(1) TESE & ®d & HRW
(2) Nat/K* & fafma & arw
(3) Ca*?Mg*? & ffr & &rw
(@)t @i & orw: Wit@ds & wRwW
75  Select the correct statement about.vitamins :
(I) They are needed in large amount to maintain essential metabolic
reactions.
(2) They are biosynthesized by liver cells.
(3) They are source of energy.
(4) They assist specific enzymes which cause esse,ntlal biochemical
changes.
Rrafire & at ¥ o #99 & WA B
(D sitvend Sl aiftiearell & v S & Rig Fe st wen
A emagEeEm -l 3
® mwﬁ?ﬁ}m@mﬁamﬁwm%;
3 @) A T W oA
@ &w%ﬁmmﬁﬁﬁmmﬁ%ﬁﬁmﬁmﬁamﬁaﬁ
- uiEdw & wRE ¥ |
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76 . Which one of the following sugar is not a' disaccharide ?

(1) Sucrose . (2) Lactose

(3) Glucose (4) Maltose

e A @ P sha eeddEs W ¥

1) gww (2) wFm

() &N I @) ¥

77 Which of the following is a fat soluble vitamin that helps in blood clotting ?

n C 2) D

3) E 4 K

ﬁ%ﬁ%%wwﬁahﬁa%ﬁaﬁrmww
% HeE o ¥ °

1) C - () D

3) E 4 K

78 How many cranial nerves are present in human beings ?

(H 8 _ (2 10
B 12 @ 14
T ¥t I R sue o @ wen feel oy ¥
(1) 8 . @ 10
G) 12 @ 14

79 Which of the following is not a type of white blood cell (WBC) ?

(1) Neutrophil (2) Basophil
(3) Acidophil (4) Plasma cell
Pl ¥ ¥ @, ahe SRR SR (WBC) & weR w8 ¥7
(0 @it 2) e
(3) uiEifsa @ e sy
80 Vitamin-C is : o
o Acetic acid . _ ~ (2) Ascorbic acid
(3) Citric acid - (4) Lactic acid -
. tefmddwy .
O ke R (2) wlis e
_(3) f@m irﬂms ('4)_ Aes W
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81 The energy values of honey and jaggeiy, respectively are :
{1} 319 and 388 kecal |
(2) 359 and 418 kcal
(3) 369 and 448 keal

(4) 399 and 468 kcal

&% U9 I8 F T AW wA ¥
(1) 319 T 388 fewr Herd

(2) 359 9 418 fpell HE

(3) 369 @ 448 fpar WA

@ 399 T 468 e &l

82 What is the chemical nature of enzymes ?

(1) Carbohydrate ) Fat

(3) Protein ' (4) Vitamin
TR @ TEEtE yel w7

(1) wETEEsE (2) war

G) W @ ferfm

- 83 Which of the following are examples of basic amino acids ?

(1) Alanine and Glycine 2) Cysteine and Proline
(3) Glutamine and Vatine (4) Histidine anﬁ Lysine
ﬁlﬂﬁiﬁaﬁ W ¥ arilg ol ordl ¥ SRmEIW BN % ?
'-(1)Wawmnq (2)1%@“%
@) R T A 4) Fm T aede |
5AL " n
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84 Match List I with List I and select the correct answer -from the codes
_ given below the lists :

List I (Vitamins) | List ]I (Deficlency dlseases)

(@ A () Beri-beri

k) B (ii)) Scurvy

© C | (iii) Rickets .
(d D . ~ {iv) Night-blindness
Codes : | : |

D) @), b)-Gv), (c)-Gi), (d)-(i)
@) @@, O)-Gb), ()-Gv), [@-@)
G) (@i, ®)-G), (©)-G), (d-iv)
@ @-@), O)-0), (o)), (d)ii)

@—Im@m%ﬁﬁrﬁﬁﬁr&amm%%ﬁﬁﬁﬁaﬁm
%Hﬁrwwwaﬁﬁﬁr

-1 (Fifm) -1 (éhmw )
@ A | @ T |
® B (i)

© C (i) ey

d D (v) W -

Fe :

1) @6, G-, ©-(), (d)-GD)
@  @-@, -G, (©-v), @
G @), G, ©-0), @)

L@ @), OO, @6, @G

85  Which of the following blood group is a universal recipient 7

M) AT . @ B
© @ o
Iﬁw\%lﬂaama{aﬁ#ﬂﬁmﬁm () &7
R O L S @ &
: "(3) ‘!Fﬁ o .._.__(4). efr . o
25 A] o o 25 {Contd.. -
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86 Which one of the following statement is not true as per the Rutherford's
nuclear atomic model ?

(1) Electrons revolves around the nucleus in cix cular path

(2) Positive charge and the mass of the atom is concentrated in the
nucleus.

(3) Neutrons exist in the nucleus.

(4) Electrons and nucleus are bonded to each other by electrostatic force
of attraction.

T & T T Wew ¥ ogar B ¥ ¥ dv ww
a8 ¥ 7

(1) <% & 9 X SORE JUaR 99 § YAa ¥

) aﬂmﬁalnamgmwm?mﬁ%ﬁaa“{w%l

@) s ¥ HE A ¥

@) WS o TE o ¥ R Agw o ww A a R E

87 Who discovered the radioactive element Radium ?

(1) Wilhelm Roentgen (2) Henri Becquerel
(3) Benjamin Franklin (4) Marie Curie
Rl awm W @ ww fee @ 7
(1) faww e 2 T HFW
(3) <=fm Hewle @ ¥ =
88 Elements having different atomic number and same mass number are
called :
(1) Isotopes (2) Isobars
(3) Isotones (4) Isomers

9 7@ R ] waie Re-fre 9o gemm den wwe o
FeA T

() waete (2) wAwi®

(3) WIS @) waEEE
89 Percentage of lead in lead pencil is : _

(1) Zero ' 2y 40%

(3) 80% @) - 100%

@ Yfaw & 9@ &R} uﬁmam B ¥

(1) Sl B () 40%

@) 8% @) 100% . |
254y 24 L | _ {Contd...
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94

Bronze is an alloy of :

(1) Copper and Zinc " (2) Copper and Tin
(3) Copper and Nickel _(4) Copper and Lead
ol sy aig dr ¥ |
(1) <& @ www o (2) i qar o &6
(3) diar am freow @t (4) < T @@ W
"An alloy is - )
(1) an element (2) a compound
(3) a homogeneous mixture (4) a heterogeneous mixture
um fg oag ¥ - |
(1) T 7T (2) w dfm
G) @ gEw fEe @ u HuEEl frsor

92 Elements with valency one are : _
(1) always metals (2) always metalloids
(3) either metal or non metal (4) always non-metals
() Fw =g : (2) ¥ 9y
(3) =g s Gy (4) Faw g

93 The ratio of electrons, protons and neutrons in an atom of helium is :
() 1:1:1 @ 1:1:2
@ 1:2:1 @ 2:1:1 _‘
m%@mﬁﬁﬁﬁqu;ﬁmmm%
1) I:1:1 2 1:1:2
3y 1:2:1 4 2:1:1
Beta rays emitted by radioactive substances are _
(1) electromagnetic rays © = °  (2) slow speed protons
(3) charged helium particles = (4) high speed electrons

Wdmfea vaet 4 saia o Tt € -
(1)fa—ga§aaﬁuw (2)%&1%111%{31%9‘@?
_(3) mﬁﬁﬁ ﬁﬁ-‘fw L2 IR (4) v ﬂﬁf En?f sﬁagﬁ
. 25 Al . B R 25.:_. R .i- L [Contd
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95 The radicactive isotope used to diagnose thyroid problem is :

(12 Calcium - 47 - {2) Cobalt -_60 )

(3) Carbon - 14 (4) lodine - 125
aREs 9HEl ¥ IUER N SEEr ¥ oW 9wl gmaes ¥ o
(1) Ffvamm - 47 Q) wERE -

(3) wET - 14 4) SERE - 125

96 Electrical resistivity of a given metallic wire depends upon

(1) its length (2) its thickness

(3) its shape (4) nature of material
B Ry ™ ug F R N Ry wiidwew folk w1 ¥
(1) e W W @ v ded W
(3) SE@ Wl W @ <9F v @ wplr WY

97 What'is the maximum resistance which can be made by using five resistors
each of 1/5 ohm ?

(1) 1/5 ohm (2) 10 ohm

(3) 5 ohm @ 1 ohm

gig Wit e 98 @ 9fe’iw 1/5 ohm 3, mrwq’mmfarcmalﬁamq
T" ST W Ghdl & 7

(1) 15 ohm (2) 10 ohm

(3) 5 ohm @ 1 ohm

98 Which of the following is used to save electric enérg_i ‘?
(1) Electric bulb RN
(2) CFL (Compact Fluorescent Lamp) _
(3) Fluorescent tube S
(4) MCB (Miniature Circuit Breaker)
ﬁﬂﬁfﬂaaﬁﬁaﬁﬂmﬁgaﬁﬁaaﬁ%fﬁwffmm%?
(1) fga ww
(2) CFL (aﬁtﬂaz ﬁahﬂﬁz ﬁw)
3) ﬁ@ﬁﬂﬁz T
(4) MCB (e gie dw)

25 AT o BT 2 [ Contd...
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99

100

101

" Omne kilowatt hour of electrical enérgy is exjual to :

(1) 3.6 x 105 joule _ (A 36><106ergs
(3) 3.6 x 106 watt @) 3.6 x 105 BTU.
v fedae g fga ot F e ¥

(1) 3.6 x 106 S (@ 36 x 106 &f
(3) 3.6 x 106 9 @ 3.6x106 1A

To protect circuits and appliances by stopping the ﬂow of high electric
‘turrent is used - _

(1) bulb

@) fuse

(3) transformer

(4) CFL (Compact Fluorescent Lamp)

e wE ghemel § I a0 @ wailkd 69 § Uaa % Rl sy few
1L

1 ==

@ w=

(3) TR

@ . T @ (N TgeEe )

Percentage of carbon dioxide present in air is :

(1) 3.03% (2) 030%
(3) 0.03% @ 330%
- g ¥ Siftae eEe sEeliEuRs & wiavw ¥ ¢
(1) 3.03% | (2) 030%
(3) 0.03% 4 330%

102

Which of | the follbwing is not a source of air pollﬁtion ?
(1) Windmill (2) Buming of firewood
(3) Automobile vehicular exhaust (4) Thermal Power Plant
Fratalan & ¥ S Tg wgEor @ e @ ¥ ?

(1) wE—aFr Q) a9 @ @&

(3) wuiva a1 R @) adig of waw

103 Which one of the following gas is not responsible for global warming ?
@ co, @ CHy |
- No . @ N,
'-',ﬁwﬁmﬁ%ﬂﬂ%%ﬁww%%ﬁmﬁﬁ% ?
@ co, S CHy
@ N @ N
25 A] o a0 [Contdu.
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- 184 Acids found in the acid rain water are :
(1) Nitric and sulphuric acid

"{2) Acetic and Hydrochloric acid

(3) Citric and sulphuric acid

(4) Picric and Hydrochloric acid

o a8t % W ¥ U@ WM A enw ¢

() RBEE T NG o

(2) Hfw T mEeNe o

6) R @ wigfe e )
4) fire wd TESEEIRE o

105 The normal hearing range of human being is :
(1) 5 hertz to 10 hertz
(2) 20 hertz to 20,000 hertz
(3) 20,000 hertz to 50,000 hertz
(4) 50,000 hertz to 80,000 hertz
TP @b MR GO GFAT H OYEIR ¥
1D s 10 &=
(2) 20 &S ¥ 20,000 A
(3) 20,000 ¥ ¥ 50,000 &R
(4) 50,000 <51 ¥ 80,000 T

106 The keyboard short cut key that can be used to activate or open the

“Find and Replace” screen in Microsoft Window Office is :

1) Cul G ' (2) Ctl H

3) Ak G 4y At H _
g < aiffeg ¥ “Find and Replace” W &1 @@ a1 96pa
% T R H-9E ¢ w2 g &1 W Bewm v ¥, 98 ¥ :
(1) Ctdl G (2) Cul H

(3) At G 4) At H

107 Each website on the Internet can be accessed by entering a umque address.
This address is referred as :

(1) HTTP () HTML

(3) FIP (4) URL -
wﬁzm%@rﬂwﬁ@a?r%ﬁﬁ@mﬁnﬁammm
BT R I %9 @ weEd ©

(1) HTTP o ) HIML
(3) FTP S (4) URL
25 A] o S 28 | [ Contd...
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108 In modern computers, the CPU speed is measured in :
(1) kilo hertz (2) giga byte
(3) kilo byte (4) giga hertz
a@ﬁﬁﬁm@ﬂﬁtﬁﬁﬁa&nﬁﬁ%&mﬁﬁwwm% ?
(1) T &= C (@ em ERe
@) felt @2 S @ s

109 The very “first artificial satellite launched in space was : *
(1) Sputnic - 1 ' (2) Vostac - 1
(3) Mariner - 1 (4) Appolo - 1
s ¥ ¥ 9N qEn yed ghbm swe o ¢
(1) ke -1 @) A -
@) #er -1 ) omEY -

110 Agencies giving internet connections are known as :
(1) IRS ' (2) Met-SAT
(3) ISP - (4) - INSAT
O g 3wl deE wea ¥ |
(1) IRS (2) Met-SAT
(3) ISP | (4) INSAT

111 Severest bleeding occurs in the wound :
(1) Abrasion _ (2) Lacerated
(3) Incised (4) Abscess
v ot TN @ aE ¥ B E
(1) @ @ fRR
3) 9 4 Tt

112 In which of the following bleeding is severest ? .
(1) Venous bleeding (2) Arterial bleeding
(3) Capiliary bleeding 4 Lymphatlc bleeding
e & 4 waifue W A e B ¥ _

oo MW @ e W ae
"_-_(3) %ﬂmmaﬁ __'_-"."__:(4) e

" [ Contd...
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113 Breaking of the ligaments around the joint is called :

(1)  Fracture _ _ @) . Sprafn
{3) Dislocation (4) Arthritis
W % 9 A % foee &1 e sEamn ¥
(1) sRg-s @ ¥

() framw @ wfunia

]

114 To prevent ﬁmher‘ injury in an injured casualy, it should not be done :
(1) Keep the casualty's injured part immobilised
(2) Keep the casualty warm _
(3) Move the injured part frequently '
(4) Keep the casualty in comfortable position (
oW @R ¥ o e ¥ R P ¥ ¥ e s
(1) wow & @hwd 9w & v W@ |
@) kT w ™ W
(3) whrrg WM & IR fewd
@ Nw & omrEms Rl ¥ @

115 What type of bandage is used in head injury ?

(1) Stump (2) Spica

(3) T bandage (4) Capline

R @ e ¥ g vaR @ w2 Ivdm A @ W 37
) w @ wim
G) & W @ R

116 Which of the following body part can be most affected due to uitraviolet
radiations ?

(1) Stomach (2) Liver
(3) Nerve (4) Skin
Tk e g fowr ¥ @l w0 B wm v e e
(1) SR '_ () apa |

@) b | S @ mm
B5A] '_ - (Contd...
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117 Who discovered the blood group ABO for the first time ?

(1) Robert Cock (2) Karl Landsteiner
(3) Darwin (4) Anton Van Leeuven Hock
@ g TSl (ABO) # wier udwaw feew & & ?
1) T @id (2) »w Wefew
@ =t 4) TEM AW A O .
18 Sir C.V. Raman won the nobel prize for his work on -
(1) Green chemistry () Scattering of light
(3) Nuclear energy (4) Solar cells
WA A TE W o e v ¥ R e g B |
(O T W (2) WIS B WHA - i
@) it s @ @ S
'_é
119 X-Rays were invented by -
(1) W. Rontgen (2) M. Faraday
(3) M. Rontgen (4) W. Faraday
TwX Reolt @ ot B A &
(1) =\, W 2 . W - .
@) W wEm ) =g, R .
120 Cell was first discovered by -
" (1) Robert Bfoﬁv'n | {2) James Watson .
~ (3)  Crick g ' : '.(4) Roberf-Hooke
e @ w A -
() € T Q) W AR -
" ROR L It §Eﬁ .
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